==
N & o & AF & H Al A
20228 & =0l & LBHSIH FEEX
AN FEHEX D
Ha: JARBE FUBY €2
o9l ADNS HESY 4 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
FEHE X 4,193,772 4,381,548 AN187,776
= 1,496,567
J| 100,000
< 291,352
s 2,305,853
MoHEE =plEol &2 2,748,380 2,645,131 103,249
= 391,787
J| 100,000
< 153,254
s 2,103,339
a4NMe 3= =4 951,300 594,700 356,600
= 24,700
J| 100,000
< 108,910
s 717,690
X SHe 100,000 100,000 0
402 RIZEXtE0| A 100,000 100,000 0
01 212t 2 AL E = (REM ) 100,000 100,000 0
OXNSHEAS 2,000,000& * 50= 100,000
Il Z=ME olTmet(MetAlY) 100,000 100,000 0
402 2I2H X201 A 100,000 100,000 0
01 2I2F 2 A B (REMTH ) 100,000 100,000 0
OsHEBIEEHHIALY (& &) 100,000
HASE O c2EE NJAAE 250,000 80,000 170,000
| 100,000
i 150,000
402 RI2EX=20| A 250,000 80,000 170,000
| 100,000
s 150,000
03 RIZHLIEF AL HI 250,000 80,000 170,000
OMASES 0l el22E XA
5,000,000& * 50= 250,000
| 100,000
i 150,000
HASHE dUHESS R0IA XA 28,800 28,800 0
501 X3 28,800 28,800 0
01 RI2tEXt3 28,800 28,800 0
OMASHES LUHEE3 NIAMSI(ZHFEXE)
9,600,000 35 28,800
S|UoHRA BIETHMALS 120,000 100,000 20,000
< 60,000
s 60,000
402 QI2H X201 M 120,000 100,000 20,000
< 60,000
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A FHEX L
Ha: JARBE FUBY €2
SH9l: 2AE 0I5 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 7,000
= 9,333
FOHS X&HHH 2H 1,277,297 1,290,972 N 13,675
= 307,676
< 20,544
= 949,077
NEZ2H| MAZIAE 27,100 29,100 A 2,000
207 O 4| 27,100 29,100 A 2,000
01 eip gl 15,100 17,100 A2,000
OXNEIIZES L 2VIIZE LRMEMN B
2I1J|=& XA 15,100,000 15,100
02 & A H| 12,000 12,000 0
OXNE==#HNST HASHAIY 6,000 x1,5000H4 9,000
OEXOIsSZAA HASHAIS 5003 x6,0000H 3,000
NEZ2E Hel 22 27,390 28,390 A 1,000
201 et H9d| 27,390 23,390 4,000
01 AtR 22l | 26,730 22,730 4,000
OXNFE2D U MISEE 2242
330,000 x5 & X| 1,650
OXNE==)|I=8 & 96,000& *100& 9,600
OXNXEE Z&| 8,000 x32 70 1,680
OXNEZ22HL 2 EH ¢ 2,000,000 =1 2,000
OXEZ22He (A 80 200,000 x5= 1,000
OXEQl &0ts HM=sU3 3,000,000 =1 3,000
ONNZRHIE 257 ¥ 23
3,000,000 =1 3,000
OXE=220E 22 Hiol 2
1,000, 000& = 14! 1,000
OEAN7Y 500,000 * 14! 500
OXNEBAND 2 42 330,000& = 107K 3,300
02 2%l 660 660 0
OsS)EssE ¢85 25 ¢ 330! *2,0000H 660
NESEZ RS 45,959 96,015 A 50,056
2 9,000
& 11,088
= 25,871
101 Q1A ] 9,000 9,141 A 141
= 9,000
04 JI2ZtHIZ2 2 ANEES 9,000 9,141 A 141
OXHze|AIY el 4| 9,000
= 9,000
308 AMXISHMSOIA 36,959 86,874 N49,915
& 11,088
o 25,871
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PN FEHEX B
Ha: JARBE FUBY €2
Sl ZoiH NNHN 29 (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
113/ 2SoHUHSZ&EAEALS I 36,959 86,874 A49,915
OdE RG22t NAE 0ISZAH ZHAY 36,959
= 11,088
[ia 25,871
K = THZE ALALS 878,172 846,880 31,292
< 9,456
[ia 868,716
201 Let24E] 78,172 42,080 36,092
< 9,456
e 68,716
01 At 22l 68,252 32,160 36,092
OXNEMEAAMNYE =H3 2FEI =2
40,0003 *4502 X 18,000
OXNEM=A =&t 8,000& x3H+90 2,160
ONETHEZAMAIY LRFI(EH L MREE
2y ) 2,000
OXETZA 28| 6,000
OZFZ BY YLUY 442
100,000& »20AH 2,000
OBEXNYGXRAE EHAHEHL  100,000& «20& = 2,000
OXNHEHMMEZAL XIEIEE OH&HI
186& »22,000& 4,092
OMHASKIA St dg ALY 32,000
< 9,456
i 22,544
02 2324l 9,920 9,920 0
OXETHZAIAIY 2t SERS
2,480& x4,000A 9,920
301 LEBEAZ 800,000 800,000 0
12 JIE2 4= 800,000 800,000 0
OXNAETMEZAANY 8= X2 800,000
X EWEAAISY Z& 298,676 290,587 8,089
= 298,676
201 Let24d] 298,676 290,587 8,089
= 298,676
01 At 22l 298,676 290, 587 8,089
OXIETHZALALS AL HI 298,676
= 298,676
NEBEHE S 2= 349,777 596,089 A 246,312
< 19,800
s 329,977
EEREFAAY 37,159 38,266 A1,107
201 LBt | 15,320 15,320 0
01 At 22l 14,600 14,600 0
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PN FEHEX B
xt

HE: HURRH FOHY £
ool NNFELH 7E (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OERE=AMY ARIII |X
300,000 = 1CH*23] 600
OERE=AMY EE2 A 5,000
O getfAIEE 28 & &l 9,000
02 =224l 720 720 0
OADE INFALFEANLAE E3HL) 23
= 30,0003 +2CH+12& 720
403 UHXSHHSA=0l& 21,839 20,946 893
02 SO 2SOICHsH A2 X 2| A I 21,839 20,946 893
FALAFBACUALAY SR 2l A
18,366,000& 1 18,366
OE28=Aa J2k |RIEs AHY
3,473,000& 14 3,473
CTE2HFAAMNY(BEX) 89,800 116,000 A 26,200
< 19,800
[ia 70,000
401 AIEHI L 2CHEI 89,800 116,000 A 26,200
< 19,800
s 70,000
01 A& Bl 89,800 116,000 A 26,200
OFA2ZE CHUHAIZE &= 175,000& «1204 21,000
< 4,000
e 17,000
OFA3E QUHAIEES EMEAL & |X22
21,000,000& »23| 42,000
< 8,000
e 34,000
O=2JtX&gse A2l 18,400
< 5,400
[ia 13,000
O=JIXNEHSE MRAX 840,000 100 & 8,400
< 2,400
e 6,000
EXNSEEEANLE 2 101,778 41,052 60,726
201 LBr2d| 101,778 38,062 63,726
01 At 2t 2l 35,904 4,500 31,404
O32UFE &23E HA Rl 240,000& 53 1,200
OBAIE A28 HMSK 7Y
500,000& » 14 500
OSUZBEYRE ARIII |
300,000 »2CH »32] 1,800
OXNAEND 228 st RAE= 1,200,000& 1,200
OMLHIBUAN 2E+4+E
1,500,000& 19 28,500
ONg=Ega EZANEBXIL BE
43,6003 »402 X 1,744
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A FHEX L
Ha: JARBE FUBY €2
Sl T 2saB IBHD CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 77,491 64,705 12,786
OMNEZAIXI 2dEE22 63,500
—HI|2 50,000
2 20,000
= 30,000
— A2 13,000
= 5,200
= 7,800
—SAME L 0l2H 500
OMLTBAIXII EA 2 3,976
= 2,361
= 1,615
OMEZ2AIXIF Ha K0l 1,408
— AE XA 77,000 48 A 308
—ELdXIANE ¥ BEFXAN 77 ,000& 48+ A 308
— SAXINENH L ZAHB2Z HoIH
13,2002 x605 792
OMEZ2AXI EE &49 H&
50,000& *140H x23] 1,400
OnxsTelH 22 27,0002 2074 540
OMEZAIXIF &8 Kol 25,000& =408 1,000
OMNEZAIXI EHEHE MAEE 1Y 2,534
—EZ2H EX 45 000& 102 450
—E2H 23 50,000 104 500
—Z2H EY 396,000 4Nl E 1,584
SESHMIABANAFE doAXE HE
25,000 x25 625
OME ZAIRIIF A SE20HAH] 2,508
= 2,508
202 o4 | 7,009 9,509 A 2,500
= 3,009
= 4,000
01 2Ll 7,009 9,509 A 2,500
OMNEZAIXI 2=F& 3,009
= 3,009
OZAIXII E4 & X XA 4,000
HASS 4o B 84 &2 1,380,976 1,675,457 294,481
= 1,104,780
= 138,098
= 138,098
I =ME s 1,380,976 1,675,457 AN 294,481
= 1,104,780
= 138,098
= 138,098
FZH=0 1,380,976 1,675,457 AN 294,481
= 1,104,780
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A FHEX L
HE: HASS 49 B B4 2
G| D= MES R (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 138,098
= 138,098
301 et A =2 730,976 1,042,557 A 311,581
= 584,780
&< 73,098
= 73,098
01 Al E & A 462 730,976 1,042,557 A 311,581
OFHZAN 730,976
= 584,780
& 73,098
= 73,098
403 XX SRS K20 & 650,000 632,900 17,100
= 520,000
o=} 65,000
= 65,000
02 2| 2SO Uet =22 EAIS Y 650,000 632,900 17,100
O KFAAIS 650,000
= 520,000
& 65,000
= 65,000
HESHAY| (=HEX D) 64,416 60,960 3,456
JlE&dl 64,416 60,960 3,456
FEHEXI I J|=2&HI 64,416 60,960 3,456
201 et | 25,920 23,760 2,160
01 A2t 2| bl 25,920 23,760 2,160
O MO A 20,736
OS2 SHM A 5,184
202 044 33,696 32,400 1,296
01 2L bl 33,696 32,400 1,296
O S MO A 33,696
203 R F & 4,800 4,800 0
04 EASHEIRFAH| 4,800 4,800 0
OFHEXN EXN2Y 400,000 «12& 4,800
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